
Pochodne wybranych funkcji rzeczywistych zmiennej rzeczywistej

(c)′ = 0 (xα)′ = αxα−1, α ∈ R
(sinx)′ = cosx (cosx)′ = − sinx

(tgx)′ = 1
cos2 x

(ctgx)′ = − 1
sin2 x

(sinhx)′ = coshx (coshx)′ = sinhx

(tghx)′ = 1
cosh2x

(ctghx)′ = − 1
sinh2x

(ax)′ = ax ln a (ex)′ = ex

(logax)
′ = 1

x ln a (lnx)′ = 1
x

(arcsinx)′ = 1√
1−x2 (arccosx)′ = − 1√

1−x2
(arctgx)′ = 1

1+x2
(arcctgx)′ = − 1

1+x2

(ar sinhx)′ = 1√
1+x2

(ar coshx)′ = 1√
x2−1

(ar tghx)′ = 1
1−x2 , |x| < 1 (ar ctghx)′ = 1

1−x2 , |x| > 1


